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There are THREE sections A, B and C in the paper.

(i) Q¥ T T G & G 10 YT & IR ST | Ted% YT @ 37 H 8 v

10 917 TG IFR S T F E
Answer all the 10 parts of the question No. I in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFT & & 8 yo71 7 8 f5=sT 6 F971 & I T | Y% F57 3 376 FT 8 0T

$7HT 5 8T / 50 Ieg) 7 I T |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QET & 6 3991 7 8 f5eT 4 971 & IR HTT | 59F 97 8 3% FT 8 TF

o)

S7%H7 15 &5 / 150 Tl 5 3R &fora |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

T QFIH & G 5941 1 FHIR TF GI< 5 Hilorg |

Solve all the questions of a section consecutively together.

(vi) @l qeIsT 7 3= g7 % 1T 7 3 sgare A= 8

Only English version is valid in case of difference in both the languages.

ARA-T
SECTION - A

freaferRaa o & i o deid/mEh Tidwia wisa S v wiE 8 gud aeie A
TR i o fore Iqa fema ST & ¢

(a) FTP (b) SNMP

(c) SMTP (d) RPC

Which of the following TCP/IP protocols is used for transferring files from one
machine to another ?

(a) FTP (b) SNMP

(¢) SMTP (d) RPC

(1 0f4) P.T.0.
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)

I HT TR eI G U] AT 1 G HAT 2 AT U6 T9T ) hael T
fesnd ?

(a) Torieg (b) TH-FAR

(c) M-I g™ (d) F g

Which of the communication modes support two way traffic but in only one
direction at a time ?

(a) Simplex (b) Half-duplex
(¢) Three-quarter duplex (d) Full duplex
wfén 4, foreht oft <1 i@ % 19 A AT ST we =Had gl 9 e
FaTR |
(a) Y dFX (b) Ts=maax
(c) Toiwmwe (d) 3G H @ RIS T
In ____ routing, the least cost route between any two nodes is the route with the
minimum distance.
(a) path vector (b) distance vector
(c) link state (d) none of the above
1 1 @ ® v ufereheH R wfdE 2 ¢
(a) T agare < (b) TSN TRV, UES 37N Jee=
(c) T Far (d) 3UUH H Y wig 7o
Which of the following is an application layer service ?
(a) Network virtual terminal (b) File transfer, access and management
(¢) Mail service (d) None of the above
ST FERT T T Bl AT o AU S TR 39 6 S arelt g e E ¢
() STEeH S Eehe (b) e
() forem wic wehe (d)  (b) 3 () &F
What is the commonly used unit for measuring the speed of data transmission ?
(a) Bytes per second (b) Baud
(c) Bits per second (d) Both (b)and (c)
(vi) I HT T SRR TIEhTet shoiger e & 2
(a) UDP (b) TCP
(c) FTP (d) NVT
Which of the transport layer protocols is connectionless ?
(a) UDP (b) TCP

(¢) FTP (dy NVT
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(vii) ®fT el SH I FC W@ & e o 1 TSl g ?

(a) 3T (b) ®fem
(c) e (d) ST HE HIE
What deals with the issues of creating and maintaining routing tables ?
(a) Forwarding (b) Routing
(c) Directing (d) None of the above
(viii) S &1 Jeafdn fearsg Tum Weehia &1 39N Hh W LAN &I g’ LAN &
Sigd e ?
(a) Router (b) Switch
(c) Bridge (d) Modem
Which networking device connects one LAN to other LAN using same protocol ?
(a) Router (b) Switch
(c) Bridge (d) Modem
(ix) Teh OSPF eaeh # aradl ®ed 1 et i & ghram 2 |
(a) AT (F<) GAfeR (b) =T AR
(c) Hml g afEs (dy ol g fmfor
s the process of introducing external routers into an OSPF network.
(a) Route redistribution (b) Route summarization
(c) Route reintroducing (d) Route recreation
(x) T 39 fopw whrehdt g § TUe S § 7
(a) VHF (b) HF
() MF (d) EHF
What frequency band does a space wave propagate in ?
(a) VHF (b) HF
(c) MF (d) EHF (1x10)
Y — &
SECTION - B

2. OSIHige 6t Feaeh et & fohedl fiF Tereniat ! FHATST |
Explain any three protocols of Network layer of OSI Model. 3)

3. TS h HIs i @ farey |

Write any three benefits of routers. 3

4. IR elehiet o1 ST |
Explain ARP protocol. A3

P.T.0.
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13.

14.

15.

FH1E{TT TUT BTSSR 3Tk Shael § A9 37t feafaw |

Write three differences between coaxial and fiber optic cables.

&g %1 UM i Ha H THLATST |

Briefly explain the concept of Bluetooth.

AT oo o Teams gl o e o == & |
Discuss design issues of transport layer in short.

&9 1 ik <fi fersrwend feafa |

Write any three features of HUB.

ol I Garatt 6 i fiwenat 6 wda ==t 5t |

Briefly discuss three features of connection oriented services.

AE — ot
SECTION - C

SUYh @ I FERIAT H TCP/IP Uisel %! faedr & Tmgmsu |

Explain in detail the TCP/IP model with the help of suitable diagram.

ferfiret eareh Sratetstt st Y % o afed TSy |

Explain various network topologies with advantages of each.

Tohg AR ZIEIE TR TIEiehict bl @8 § wHemsy |

Briefly explain any four transport layer protocols.

feda-adat wf temftem i foear & gmemzu |

Explain in detail the distance — vector routing algorithm.

SYTIE I FUETSY | 78 WLAN & form yer g 2 2
Explain Ethernet. How is it different from WLAN ?

Frerferfiad m erg feoaforat fored
Write short notes on following :
(i) CHTHH

SMTP
(i) A

NIC
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